N of simulated tracks vs transverse vert position

=

TrackingParticles

0

o
w

N of associated tracks (simToReco) vs transverse vert position

Recons@cted TPs
o

=
o

~—

+

=

N of simulated tracks vs z vert position

TrackingParticles

=
o

(Y

10E

.95

1072

107

10 10°
TP vertr (cm)

N of associated tracks (simToReco) vs z vert position |

Reconstructed TPs

bodoogd

0 20 30
TP vert z (cm)

A RALRT

b - 4t

|

339

10

=

2 :
o

1072

107

1

L)

10 1
TP vertr (cm)

N of simulated tracks vs.simPVz |

=
o
W

TrackingParticles

=
o
N

10

5

10 15 20
TP Sim. PV z (cm)

5 F | é
S A
0¥ =20 -10 0 10 20 30

TP vert z (cm)

| N of associated tracks (simToReco) vs. sim PV z |

TPs

Reconstructed

Ratio

vaf-- A b b SETEPPRE PPELPS

1 CEEE 114 <1 K O KEREE e e
AL dodide
-10 -5 1 15 20

TP Sim. PV z (cm)



	Contents
	Page 1


